Ny
il |'I,||.r 1“"‘
rl'--l_i.r y B I 1‘... .F-|r'|,l
T —— 1N | hik ruide
101 W s wd e B ol AP S ' § Penzy
ptgaroap s o g ¥7 79 £’ o
ﬂ!'.rJ;T" E 1R Buaj
ai I F'-J'j ‘\1 .. .-'-TI.IL
G | r: 1l:|_|.\.|.:".. xfi:{ Fr_}-
(2) wafesy NH, R
Y
m  AghUi
|1",| -'J‘}‘. ﬁ.;:
| 4y ale KOs B'-"tru 5

{ b ('hl 1
< g ol (L] AR

ol

= nds

WHigh of the following COmP*
102. Whach © . on treatme

-
—_
L]

102

=W 7
(1) CH,CHO
) CgHs.CHO
CH,
‘ C=0
® o B
(4) HCHO

Y TFERE @ G T 31 & fom

103
fFn ims wm s T d?

) WEiesfE

(2 == %% (we-3m fm)
. (@) ey i (ag-dm i)
@ wmta

]

Pl.'-.’hdl.li'e an este
i
alumergum ethoxde !

@/{ZH?‘EHD

(2) CgHs.CHO
CH,
&  cn, > C=0,
(4) HCHO

In Bosch’s process for production
h}-drogaxﬂmegmnsedia:’r o,
Lo

Az

(1)

(4) Coal gas
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reaciion, where AH

Tikg, =T =
Baimiach & tar
1 T L ViEm Akl w=fufmm 104, For an s auiliathermmd
RN Sut w5y h:a: 'Y Fefoe wTm represents enthalpy of cresction I8
S ¥em ki ol 1, the minamuim value {or ety
(1 5 of activation will be
} AHW -
o i1 fiees than Akl A
(2) AH ¥ W
. ] 2 a_';iun.ll o Al
4] E = -'
'4'.’ i) Farmo
4 : :
2 AHR x (4) Amdirs than A
w =
105. RFFL’”'[-D}.-JRH%.{_‘J # i wem wiem | 105, I the brow %S g, test in the complex
i, Efew e faawt wifa swEen w0 B i-;lm u._.x{ﬁgﬁ‘, nitric oxide behaves
as
() {1 NO 7Y (1] Neutral NO molecule
@ o & v )
= /
(3) NO* J( O
(%) NO (1) NO
106, Isoprene (2-methvi-1, 3-butadienc) 15a basic

106. EETEE ( 2-afum-1, 3-=gazds) Fefafes

4 # frosl ga ven #7
(1) HNWS
(2 TSR

Ty

I:.'I = s
:

(4

107. Fe(CO) I
(1) &= 79m
@) o- T F
(@) w- T FE

unit of the 'F"l.‘h":'l‘l-t'r rubber :

Buna N rubber

(1)
(2) Buna S rubber L
(3) Neoprene rubber

‘\dtural rubher

107, In Fe{CO)s, the Fe —C bond
¢ bathTh

lonic character

(1)
(2)
3)
y Both = and o characters

o - character only

w - character only

@) w #tomgm A

i/Page 3
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: i il
108 S=TE s LSO, W sl 9 HING,
wfidbcgy wri awm B

{1} IR ST

(7 = R =
(3  m- TR 3T
(4) EETET

109. Ofirsia Frerferiign o 4 e agers (TE0F)
&3

(- D- ferwrrEs

(2) a-D- TERETEE
(3) B-D-TEEEE
(4) B-D-WwEEE

1H0. N9 3R 780 (water gas) ¥ 287 790 &,

CO(g) +3H,(g)= CH,(g) + H,0O(g), AT=
sifufEn foam 31 =9 amg 51 221 fem =0
l -
(1) Sfaferg vt fewn & nfs 00 s ads
¥ 359 | W 2Rt 2
(@) sifufEa ghig o of 07 v 99

w g A Ei )

(3) At s Fam 4 afy S0 g Ak
: ¥ I A T i g

(4) St s fem 3 v et e e
& 32 F awEl w2

——

L1 8

A

110,

gt NLL e LITH
i @
& ||H_‘1iill-|l
e | e L -
pul
" i L
(1 (= riRLFE Jrarin L |
Sl LALL | £
4] Ih AN sulphon
“ 1-1.'
v_/u’f-l rae ruTE? e L rAtly M ....}
[
i4) pilrob nny ',
.-'_' l.]__'l-l:"\ U ]
W il
Ay ]l. st 1% 4l ﬁ,]u.” i
i g L
(1) B~ [ = galactopy Fall
g
n-D- Hhh oy rarnd

I-] A Fll.llx I."!."'\ ranosse

H‘
|3.

(3)

{4) [ - fructofurandse

tn the formation of methane from water
CO(g) + 3H,(g)—= CH, L)+ H-O(g). if
water vapour is removed from the reaction

fmixture :

(1)

the reaction will move in reverse
direction and there will be effective
decrease in the yield of methane,

the reaction will move in reverse
direction and there will be effecti @
ncrease in the yield of methane.

wmmumhin{mﬂme .
the reaction will move in forwa
direction hntﬂ‘lemwmboeﬁ Ve
decmaseinﬂurleldnfﬂmt}m h

(4)
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M. Prefeten ¥ % feg fipsery
A w

WA Pehem ¥ 9t W i -
XTFaTym fupy
() e
(3) I M HOY

%) 1M NaOH

T2 919 fowy o 5% SRS eR LR R

(1) Pt o wrfifa sfufso & fom AG
CRIG-E W s

(2} TS5 F=Fuvig sifvyieEm % fom AG 1
e &

(3) T&H = waffa 5 9 aw sfaism
# 197 AG v o #

(4) ToE 2@ wvafin sifafea & fao AG

b et A iR
13, Cr 3R Fo ¥ s w50: 24 s 26 ¥
fi AT ¥ IY9E ¥ WY

(1) I.'- ".'.1"~.'||__.
2) [Cr(CO)
() [Cr(NHy)**

(4)  [Fe(CO)y

11

113.

e wh Q” Iyw solubality of Aniline in walter 4
- Fincreased by adding .

h.-i“;'h'

(1L~ dicthyl ether P
t<) toluene

I__..f--""-- !‘_-
(31 M HC 1 JP Ga W

1 M NatOH

L_.
{4}

Which one of the following statements is

nol correat ?

(1)  AG 5 positive for a spontaneous

Friead Bnon

AG is rero for a reversible reaction

(3)  AG s positive for a non-spontaneous

reaction

1-I|;_e"'1L; is negative for a spontaneous

reaction

Atomic numbers of Cr and Fe are 24 and 26
respectively. Which of the following is
paramagnetic with the spin of electrons ?

21

FeeN)l'y K FC
- L

[Cr{CO, ) o

37 (CrNHY, P

[Fe(CO).)

(1

(2)

(4)

ige 5

70 %14 % 6T T / SPACE FOR ROUGH WORK







- - —— -
R T =1 SN gUiETa

- o CF

F
T ] SHT Tt

Y7, T4l 7 %t T F
i
(1 =1 & 97
|; L Ee A | .;' R E
1} TR
_lh e BBV *
st T it
1} "I e M
i ¥ ¥ I

(3 wfaEa At

A= fifemre SfuiED

{ pns
h

r&=dt 117, The enthalpies of all clements in their

Mo siandard stales aro * {lﬂ

[ les= them 2210

different 10T a0 h alement

THIE & i1s A peaction thatl converts an armiidde mio an
amnine s called
1" Hoffmann bromamide reaction Ay oM
(.-r"'f E ™ Ll 511.
i‘l - e %
(2 Galttermann Koch reaction '-]-‘
| .

1y Carbyviamine reacthon

-

Gabriel 'l,_‘!“.ﬂ'..'l'.lllm-._h' reaction

=

T @rd % e W ) SPACE FOR ROUGH WORK PK) 17-1/Che



- |
i1 H."‘:f'fl'ﬂ W

iy o
g ;

119

M4

H
{i) ®E Hy> Y

[t} Bry

H
B
(n |

120, Frafenem s 2 2 wad s
e T ) frefua o £

(1)  [He] 26
(@), [Xe] 653
(3)  [He] 25
) [Xe]6s!

vrfeEE A

1M
H .
(h) LA
fii) Bry
ie .
L,
“"i'-l'ﬂr
M 4 B
Br
/'H.?Br
@ |
G
Br
%
3 |

Br
w (I

120.  Which one of the foﬂowm
EIEftmmc cunﬁgumm
element ?

0 rHelzsz

N/Pages




121. FHE & | ey i
TRz W e g 121. Hydrolysis of 1 male of sucrose yielkds | _i‘ L

(1) e 2 e v s
(1) 2 moles of glucose only _,,»-’J ag"
(2) 249 sy
2y 2 moles of galactose
(3) 1 e R
1 wire e (3) 1 mole of glucose and 1 mole of
palactose
(4) 1 WS o iy O/ w3ETH {4) mole of glucose and 1 mole of
fructose

122, #AEED & W 3=F & owe 59 e | 1220 Which of thie following statement s not
TRt mfs-asmam 7 correct to explain the effect of mtalz.rmé‘foi__\
- v‘ .'-

rate of reaction ? B

(1) = fed afefers 55 frss-Sa | J-'”/ A catalyst alters the Gibbs ﬁ"ﬂgg’“ﬂ
gfrafda w7 28 ¥ areaction. o

(2 s fed sfufem & aa-fows (2) A catalyst does mnot change
&1 vfafda 76 =@ equilibrium constant of a reaction,_
(3) I FAVERF] 3 e ¥ 9A (3) A catalyst reduces the activation
ufraun 9 F1 F9 w2 T energy between reactants and
products.
(4) ew dwfegs afviem-feafat w=m (4) A catalyst provides an alternate
FA T reaction mechanism.

rfafad ¥ @ Wigs) & fe&R e W A @h’hich of the following pairs of metals is

123.
nE= gl g s e e €7 ;punﬁr«:dhy\f_m Arkel process ? > _r_é
el :
(i Zn AT T vﬂ'(. Znand Th \.l'ﬂ-""t..t.’-'
(2) AgiAu (2) Agand Au @
(3) Ni3itFe /B Ni and Fe
(4) Ga#fiIn (4) GaandIn
% % % T S/ SPACE FOR ROUGH WORK PK] 17-1/ Che
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I

124 Ppiniee J & w1 HNE AT .urri'lr:
gy e et A ) B ak
Pl
7 Snlds
(3 Bell,
@) AICh

Hmn,afm:ﬁﬁzimﬁﬁm%: %

125.
(1) wum Fifz afifEn w5
) fedra wife afufEn =
@) = i AfuiEm
(@) %R um wife A

i .'Fi—m

126, A F 7

(1) P i

@) vewEE v
() il s
() g v

which is the m

. follow 1N
» aent 4

The décomposition of HI into Hy and Ly
an example of

(1)  first order mﬂcﬁﬂ,@h

\)/ second order reaction

zero order reaction
{4) pseudo first order reaction
126. The chemical .
€ react £} -

(CH;); CBr + H,0 - (CH,), COH + HBe

an example of :

02} El.lmmaﬁm Yesction

N/Page 10




127, B it sl

3 |

b° O

‘ CH,. ¢
CH, “om-4.,

(2) 7
")

B H S

COOH

@ B~y

125, Ffetan # e, ot foerrn ) i

g7

(1) wE-37

() e

() e W
(4) e

127, The product of the resctiom

(8} O
i L]
.{"- 3 .-(]-l"'- .-'t
HO CH, "LH;. oM - 2 O’J‘Kh
will be ; o Sl e
& L
0 g
{ )
(1)
&
©

€

5 T,Jé“/ &
/ o '=.___.—~"_j"’;_:j| }

@) H T s COOH

128, In which of the following, concentration
value for a solution changes with change
n temperature ?
(1) Mole fraction

@) Molality

(3) Mass percentage

N/Page 11
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T UIFE T e f

E LE | .I. J r::-p. my #

M sV, K* /K

A SR
T B W R v ey §

(1 Mg
(2. K
i3} In
4} Na

L Fefefas g s I T Dy W 27

) & .
o
- L.I.
(2) o
|3} .|
.HN-F__-
T

Ir"- 5'Il'ﬂ\.'l are Biven -umlar:I elecrrondie

Polential (157
It f7n=

D76 V. Na* JMaws —271 U

Mg * /Mg = ~ 236 V, K* /K=~ 268V

Which one is the strongest reducing

agent 7
{1y Mg
(2) ~K
(3, Zn
(4). Na

132, Whach of the following is not an aromatic

species 7
. S
Q7
R e
@, N~
L W gt
-
® L)
e

(4)

T T4 & o0 W98 / SPACE FOR ROUGH WORK
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paren AfeTITS

133, preaferfam W R w-H R w7

cofiqfiy i sgdrgfreTT

CH, = CH—CH,Br
(1) {‘.”‘_
CH, -~ CH - CH,CH,
Be
CH,CH.CH; - CH,Br
(CH3)C —Br

(2

3
4

134. fen sfvysds gm i fo T o ﬂm@

&7

oH B
.-f'f’;\k'-u -,"‘f\-l 3
\L / . \ /
() Br, CCL
(@) Bry HO
(3) NaBr
(4) P

135. fadl www wifz ®1 sfufem =1 an-fgais
olls ~ |1 sifusns € g B ST SRfemE

i ‘ A W 0 ] fear waa w2

() "23.x 10/ By

@) 4o%10  Geex
3) uum-!ﬁw

) 32x10"2%mvy

i

P

.—_

N/Page 14

(1)

e

cH Eﬂlﬁm&k

o R

Which reagent brings ﬂbﬂl.ll' the fo
conversion ? l

41,~CH - CHCH Jx

“Br, CCly
@ By HO
(3) NaBr
(4) PBry

The rate constant for a first order
' 860 s~ 1. How much time

vill
reduce the initial concent:
1 th
rentant to —
16 :
(M) 23%107? seconds
) 4.6%10"2 seconds

value ?



; P ) ol | -4 Ou—C I_._(-,_‘_p;,"i

N e
e wORfere @ THM W 4 i Foedwy "‘11
AW e g f. SR | A6 Wit atoriie pimiber 25, & divalent jon in
aguenus solution has 1he mragnetic
vy
L] ] o R
2) s 18 Mg 1*
@ 7Huy b i
*
& Ae s
Hp (Y ARpg N 1

-~

- AY,

4) 5%
- \_'/"‘/Tm"“ "

137. 9 P g el o e T i My

F>Cl>Br> im_q H_TF“ &> 137. Fow whinh e o Uhae I'Hlﬁm'tnﬂ FT“W

ot halogens, the sequence F > C1 > Br > |
holds good 7

(h Wy B (1) Atomic raciisel
(2) WS (2)  Bailing point 4
(3) TN e (3)  Electron affinity o
{4) f“.‘_ﬂ £l (4) [rfEn‘lnn‘uj;.:hulV .

38. WA T E7 T TR i e ann The compound which gives off oxygen on

e » moderate heating ts ;

(1) foF e s (1)  Zinc oxid G
= MR

@) Wit e EL Aluminium oxide ="

() W sl : () Mercuric oxide
(4) W stenrs (4)  Cupric oxide

uge15 T @4 & W0 W% ) SPACE FOR ROUGH WORK PK] 171/ Che
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!
ik h L o the 1"“'“““-. -
i
1

¥
. ma B 7 achid =5
179, Frfnifam 2 8 ey el B !

*
_NH,

NH, (1)

W 2) 5
I LN =
2 i 2
O,N ' ti':"
) +
P NH;
A ;‘i”t |'| 7
] SR
@) L/ H4C
He O ot
[ ?EFL || ;-ﬁ“"—“‘]’;
""-\-\._.\:!- N 4}
) l' _ ( L.
140, 4 fau Mo =T, 140. Of the following species,
.rlq_.. "ﬁ'!'.&‘*, Ft'*h.c'ﬂ:.”.fu' 3“’{ Tiﬂ-*’v!'ﬁ‘*&;*‘lpé"": 'r..:.:l-..
Mo S, Mn"""',
i i #F W sty foverst S T {m A ? which two will p
solution 3 2, :
E F by ._'.
(1) Mn** 3% Fe* “‘3‘ *and Fe?t

oL e @ V3* ana o>
@ T s .| e

< &wa ysmmgk! &




M. =fates § & fey wrsfam o 4=t srom

=an T )
Br |_|.'p -‘-lf_
" ) S,
1) Al
() ki
HL}:
) + Sn/HC - »
~Br
a + NacN <H™,
'.~,,~__.-fC_'H-1
i4) ol e

142. F=fafam STl - B S
(1) K*, Ca**, 83+ Ci-
(2) Na*,Mg**, AP*,q1-
(3) K*.C1-,Mgl*, &3+

() Na* Ca’' s+ F-

M3, S s st | TS A & A wEe
a ¢ T e 4 8 9 s
& T w6 AH a7

(n Cd42*
@ P
() Ag*®
(4) Cu*t

e

Which of the following reaction shall
prouce bonzaie acid ?

4L

o ik
i Bir il hlg H
‘,“)/ i e | (i) Tl
X oA By
NG, i Th

(Y

i + Sn/HC —— _ov
.

]

(2)

=5

. -"-‘;::'\_ -'Hr E-I &
[ r # NaCN ——»

L]

.

Ty CHy

1 | —
LN Lt

N
142. Which of the following sets of ions
represents the collection gof isoelectronic
ecies 7 g & S
sp _,-:1 /} oy
A K5, G2, 884 ot
(2) Na*, Mg?* AP, C1-
@) K*,C-, Mg+, S
(8) Na*,Ca?* S3* F-

Ammonia is a Lewis base. It forms
complexes with cations. Which one of the
following cations does not form complex
with ammonia ?

143.

Page 17
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LL-’:
(3 H
o Fk
{) NH,
= A
3 f e
L qm?ﬁ |

145 12 __*ﬂ’!_ ;

m #FQ-I A op) TETTA TE WY

2 5. |

FrE
) A p HEAR T

3

' S g7
33 o gwiA
()

#ﬁmrﬁ
. 3 fadrn (o)

S50,




TS RO TR N e

Fremda i

V4. By winiey mecthiodd s a ketone | anverted ko

of ]I.'\.'..h..-«. ,pr‘ulll '

o

(1 Aldcdol cordensalsom
T STy
(2% Wolll-Kishmer redhsction
B "
mwma \.ﬂi{!#m
(M Reiouer - Tiemann. reac ion
sfrwdt sthifam
4) Cannirearc’s pedcihern

:J_r_:i‘r T il - |"| =k -:.l_"] ﬂ' t 'rl'jT]' .
I YiEa -
- FNFE Isir | 149. For a reaction A +8B - i"'ll"'-l'll"lr"- rate la

% Ferer v FoT x:jﬂmm; T . =
&'r h"“”ﬂ‘! exprosiion tor rale; 1 K{A]IBJ

e 3

e B E R 5T B i
£ f LS B B T e——
e T 3TEAT WA ST fem we A
A ¥ TR S J

If the volume of the container is reduced to
hall' oof s original viorluma, the rate of

reac trom w il become

p 478
il 1} 4 times v {r q"lﬁ"
R " . I;- r“\
w 8T e ' {?'
2 [ (2) .78 timies _1"'-’“
S s
. -~ T - I
g 4 [3) 3 Hirmos
Wy 2T
M) <1 (4) 2 tmes

10, TETE AtviEm 7 s @ awn A 150. In Rosenmund's reduction, the « ompound

3 > o
. reduoced is ;. p-Ch O
T b

1l U= 9199ES (1) alkvl cvanide
() N (2) amide

(3) uEmgEE B~ aldehyde

(4) I FNRE (4) acid chloride

age 19 % & & U 9T / SPACE FOR ROUGH WORK PK] 17-1/ Che



| gm1, B ihe IR -
S Yol N .
181 win |I 2 Osg) - IH A M
T s 2l i-. L
y : .I‘- { e stk o1 b bells — e S
o wrey T ML ; i priohure Wakey S
ity & SEHIE BERS oy gy readts iy T
4yt _I,, I'Jj"‘ T ’hl_t{._t"'?;uﬂ‘:.l-l.' 1.-.[! rt_. l11 W
iy ] o Jdmi s e TL . ¥ 3 Ty raltie il
s O[T T R 7
1 4 1o a' ’
(1 N “ [ 3 .
/.}1/ 402
rl‘ " 1'-. L
(1) 2t
(N 2:1
38 (4] 4:4
(4} 4
: i reaction takes place wi
i S—— - @ | 152 What type © : .
152, (CHy)st - Br I ST ﬁrfmnﬂ‘?ﬁ"ﬁ (CH ) C — Br reacts with agqueous sodi
gt ) Frafera § & 0 W sifufFm \ 3
. f hvdrosade ? AL .
s X i C + 1
—
(11761 reaction. 4
(1) Syl shuizm :
. saction
& 52 e 2) 5,2 reach
(3) addition reacthon !

(4) Elinuna ination reaction 1\

e
153. Bond angle is guini

following? 4™ 1
18

(1) HSe n-

(2) H,Te v

for:

o
&




i-u i Bl (T4 = Hl‘d’immm“‘v
r " @) The products ormed by reaction htw
W7 MU Il s anad Mudorine are ,ﬁ‘ o —
T M (1) '!ﬁ;-_-! and FIF f-rl,f '.. -@
M Hi @ SFandHF_/ + 3
i c < oftt F 3  SF,_and HF C,;%‘—
(4) SF,_Sand HF
5% Culshew [akafl '\ﬂ llm;'l..-\.g[q!.ﬂ .,v-d'd-“ 'l.-"
I’ _ . : 155. In {_'l.lh}'{'u: T (mghllAL" g Ags)
#4 fom T W ww ol g7 - 1 ¢
which of the following -,ullrrn-n S 1S de
correct 7 =
(1) i‘..‘-‘ : e I'-'-J—q,'l M "
L = -::'E —I'-_ 'S
— E rull frild it = u”
v e S =
L A B ; (2} Cell reaction is
Cu=" () + ZAg()—+Cu(s) + 24¢ * (aq) Cu’ * (ag) + 2Ag(a)—Culs) + 24 ™ (ag)
B = .3 3 & =i qﬁ' HR Hi (3) Silver electrode acts as anode and
=i TE FETE W vifs S w5 (4 copper electrods acts as cathode
y) e RIS e W vite o wTw [4)_~Silver electrode acts as cathode and
. o ., - - ¥ o e —_—
TR IE UATE W1 vifa % =1 copper electrode acts as anode
b, HEE AwTRIfTE 3 F[E8 37 W1 i 4 156. ion : Orthoboric acid behaves as a
SR F T 2 Lewis acid. (A
wnor: 98 OH" AGA F TH FHRMA- Reason: [t nn._lle& an L‘t*i."t_______'PalItﬂ
7T GETT HlE AEESIG & OH- ion and forms a
froTETTE e AT 8 tetrahedral metaborate ion.
(1) FhEF =f (i IFT’!;WTTIEHEI J/&mrﬁﬂnistme but Reason is false,

) Fymuger TR S wé

gfvsra 2 =W 2151 T 6, T FR
sfiveys 3 o7 s €1

3

4) s S aE e E T
sfumu 2 w6 =men T8 €

Assertion is false bul Reason is true.

(2)
()

Both Assertion and Reason are true
and Reason is correct explanation for

Assertion.
tﬂllmhrﬂwmmpmﬁ‘
L for Assertion.
@ =% /) SPACE FOR ROUGH WORK TG
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B

» JH1(g) % TV T

wiufisd H g+ Lig)
aren

T sul wu B afuw (G > ) B
fragThE %1 573 91T

157

mn K=>1

2
™

(9) K=0

CH,=CH-CH-CHO ¥ [UPAC - & :
|

158.
CN
1) 2- T -#E-3-F-1-9W
@ 3-mEn-wE-1-F-1-F9
@) 2 - it - =R - 3 - 1 - TR
@ 3- s - = - 1 - F o
159, 7fta FHNO, & =4 TR FH T HA-H
g g S 8 7
(i) H;
(2) NH,
(3) N
@ O

Fos the peadtim Hyix) * 144g) = ZHYHgE). the |
tandard free energy is groater an e Lo
(a0 > The value of the equilibrig 1

157

iLry

cimatant will be 3 'S 'y
q L 13
1y K>1 "
\_j)\/ﬁ"‘ )f"'{ 4

@ K=1 ek N

{'H K=0 r s

{L-i? b |
= CH~CH - CHO

i
CN

158. [UPAC name of CH,

180

M-Cyaqn-bu:-ﬁ-wq -al

3. Cyano-but-1-ene-1-al

(2)
(3) 2-Formyl-but-3-ene-nitrile |
(4) 3 - Oxo - but - 1 - ene nitrile

(4)

N/Page 22
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1
e

@ R w1 foro ORTRR (K ) L w10~
Al v M HTam mrfwﬁhqq
: iz B! TR f=TTm Wy W 7

: 2% 107 ®

2 AR X I0TT

|t' ::‘L L ;

H) 23%10="
& T N)C = C(CN), ¥ f6m3 o 37 « mry

£

) o o AT JE

2 Ho 3l A

e Hoesm O

4) Tae @ N=

&2 3 T - A WA R

i Fsai, K, 1 AR a5 v
o1 wg T ¥

(h

— Sy AT Tt (o e P

@
1 W T B

K,

Q) Ape SE # ue fasma=
#) Wi 77 T a €

(4) mmﬂmmfiﬂmuﬁr

et (Kyp) of BaSO, Is
will be rnnlnt solubality
ity M harium

o)
QY
f?@ +_.

"H.ﬂu'hHH_-. pro widu
L1=<10"" What
of barium _:.ulrh.\'l:r' iry ©
chloride solution ?

(h 12x10-%
@ 28x10°* W NO.C
v " 22%10°" a0
it
- g
(¥ 22x10°
161. How many o and = bongls are there l{'lt-'l'l'i' ,l.;.'l.'l
o

solecale (ENLCRCICN),? (#

N- = &
(1} Fiye orand vight 7 4{/
\94“{ o and nine =

1_1_&

N

N

(3} Nine ¢ and seven T
(4) Fiveoand nine™

162. Which of the following statements m not P
corfect 7
rn-':?-
(1) The value of Henry's constant, Ky ? = 'lH
increases  with  increase  in
Wy of:

temperature

The value of Henry's constant Ky, is
greater for gases with higher
solubility,

(2) “.I.."

The value of molal depression
constant depends on the nature of
solvent

Relative lowering of vapour pressure

(3

(4)

T

is a dimensionless quantity

==
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63, ) In hassaigne’s hest 10 detect the presence

MTE w1 uftafy & o
s A r‘ﬁF ; -# 1Wmﬁﬂﬁm sulphur in an UryAnIc COmMpourd, g
g & P Fe A TR AR ctract on acklification
g e (HH) w1 ofsisE An Ax f =] sodium Tusiom € L -
N & T ST WO T I S acotic acid and lead acetate gives & by
:::,ﬁ o4 % e A 7 precipitate due 102
l ﬁc TR : (1) lLead Sulphide - \
(1) , g
sulphide U’) 00
@) wfsT EERE (2) SodiumSep W g.,
(1) AT FewE (¥ Lead Sulphite i@:}'—- I
@) TR (4) LeadSulphate u"" :
164, # @ firar & wad wea | 164, Among the following whichoneis thems
& - s of silver ?
ULE - important ore O Sll¥
m = (1 Argunhlt\/
(7 e (2} Hom silver
() wWEEnE (7R (3) Proustite
(4) ¥ Toen (4)  Ruby silver
165. @ e Reraa 165. In the free radical halogenation
':"-I'la * \_1- Em .{_lii.‘\ + HX CH'I- 4 x! m 3 m&x""" .l_m
stoa fuad & the propagation steps are :
T
. i_l i e --IL‘H - -
c-'-" .x 3+ HX -jdf CH"'I‘X'_'EHE"'!’H
il i e X' =3l H.X o —
) . Al0)  CHys X = CHX o 1

d '.:[0.1*\2. "'l'l_‘.x-i-xp

Mm@
) (o))
G} (a) s m)

(4) ﬂﬂﬂt”_
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iy = W
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@ @and()4 0\5“ e

ﬂl (b) and () |
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: " E* H TII f!_:':F-f' 4
e =" ‘q'ﬁTH T,
p
al - :;‘-
i B: 2 :p
T 3
- W= 2 mmmﬂqﬁtf"‘?‘m
Samlis SRb LR E S,
|
C
1 H.,
H 1 H
CH.
|
B
‘i-;‘-. b
Y H Y H
H
I .
CH,
.M'x_
H~ _
r1

i4)

\

Hn‘-" x_,,r‘\ -
CHy

"
166. Which ome of the following outer elecitron A ]
comnligurations 1§ nol correct f &' 2
iy,
h Nt a
|1 \ LY -I_ ’ 1

2y
“F

T

167. ini- todo - 2

- methyl propane, which of
the below miven Newman projecihions 1s
most stable 7

tu"‘?-

]. CH; GY}A}}#
4 HY i wl

CH,
i @
St 5
H.C— :
(2) "
i —pF - H
H
: CH,
4 k b Y
) H- S W
i xH
A CH.

j\ H;C ?1__,:’"
H oy
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.'.':—i"!—;] :l‘_T * 5

HO
L=-0H
C=H

0-C-H
H-C-0H
CH.OH
CHO
H-C-0H
ID=C=H
HO-C=H
HO-C=H
L'H:DH
CHO

HO-C-H

HO
Iy

=i

CH.(OH
HO=C=h
H=L - Gii
HD-*{IZ—H
HO-C~H

CHOH

I?l The pen chain struad TEi e 1] ll.llllrﬁ”\

W Foppligon e, 1% @ '_I'. g A k‘\li" s
i Urrmmyt Eies ¥ tjg'

CHO e L
H— C - f;&?’w
HO-C-H [ 8§ = e C
B =~ OW
H-C -0H
fil:'.':H

Huach be
The structure of (Li=( = ) glucos will

w h o of et '|-u-"':li'..""l"o-"ll'l:n'I
CHILE
H =L (4

HD-C-H
(1) L

HC =0 =

H-=C-0H

CH.OH
CHIO
H-C-Otl
2) HO-C-H
HO-C-H
HO-C-H
CH.OH
CHO
HO-C-H
HO-C-H
HO-C-H
H—~L:I——DH
li'l{:f.lH

o)

CHO
Hu-é-u

@ Hfﬁ—ﬂn
HO-C-H
HO-C-H

' CHOH

HrIFIF H
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vt w30 &2

afi= wfufen
o vt Afefes sifvfa
wéw sfvfn
whip sfufn

7L

m
(4]
(3

(4

173, Frefafas pref @ feme aam gl

ation of w-chioroacutie acid,

172. For prepara
o A LA II.H.HH! ?

which react

(1} 4 Porkin’s P them

‘/[}}/I‘Irll-\"n:l}urd Zelinsky reachion

&) Wurtz reaction

(4) Stephens reaction

173, Which of the following pairs will have

WW'? :;.ffﬁ limmagrﬂkwm ?
1y v amsct 3 d"-@“&"} "-’?" and5*T D
2) T sy Ti2* and V2*
(3) € sfmntt . a2
Mn? @f} (3 Cf* and MnZ*
(4) C2* el L N
< (4 Cr** and Fe**
¥ s 18
174, wfwm 1k
R For the process =
Bry{l) — Bry(g) % foru )
= Br
AH" = 3] “"h-l :;h 1_@
' AS =) [ wmqm m-mgjm-tﬂ
i za ﬁ'-ﬂ]m-l -1 "
"y ¥ e W, which mol~1. The ter
| coexist i wm
e (1) sk
3 33K
-
@ ok




e sufEay i Pttty
1= ;ﬁ;ia_ﬁ- *T I ﬁmt'“#ﬂ L ﬁm

|
WS NaOH

wie H,50,

j)  {a) FR(b) BT
- ,-..]-‘lﬁ?ib]ﬁ'ﬂi:l’f:!ﬁ

-

#44 (a)

g ¥ (D)

H .{__']_.""q.{.-! #ﬂf Fﬁﬁ hqa

11,40,32.35 540 By !qﬁi';ﬁﬁ:‘-:;
T A g &

1%

m N-H
% 00—
| O=F

gi H-0

17, 5 T A S e faes B E =am

) s e o e iR
F57

@ F7 T vk & sy wifem

Wiy T
0 ¥ & e 0 aifares foew
e

4w Ay Gefeas ae ol weim
W a5z

1
i Which reagent is used in catalytic amount
0 an estorification, eaction ? -

B2

(@) Aq NaOH
‘WC{W. H50,

(1)
2)
) {a) only

B ) only
x

176, Thedlectronegativities of H, CL, N, O and F
are21.30,32,35and 4.0 respectively. The

Both (a) and (1)
Neither (a) sor (b)

-

Strongest bond is formed between :
1} N - 5V S
{1} i .]11-\ -1 ,{\
o : .
= g
) S l':.,‘ 0 =)0 "'/1:
H-0 a S
g4 &% b
\ N
177, Fehling solution A and Fehling solution B
e ¢
are respectively ; _L_""‘_E?_,'“*_
(1) ammoniacal silver nitrate and
aqueous copper sulphate
yaqumus copper sulphate and
alkaline sodium potassium tartarate
() Aqueous copper sulphate and
ammoniacal silver nitrate
(4) alkaline sodium potassium tartarate
and aqueous copper sulphate

[ —
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({B?ﬁ. Reaction of aceti actd with gpdiam

{83 THIEE HE T Crrgy WIEETATI T ATV

-_L"L"' E. L), T hisA Fu 4 Am " bicarbonate, gives CO, The € of €Oy

g comes from " W
e CELR Y apt

(1) = /\2 HCOy group -

':| H-— L ! . ;;ﬁ:.lq ﬂ’qf :“-I: I.:'f- H - C H:-._- 1'i"|t'l‘!‘l-:-.h’1'|~- '_.‘,E',:-h'l.i_"'

3) CH,COOH ¥ -CH, ¢ 4 3y —CH,group of CH,COOH

@ CH,COOH® _COOHTE® G?( _ COOH group in CH,COOH

FL w13 &+ mm; SPACE FOR ROUGH WORK pK] 17-1/Che
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164, sfvfem
|
CHYCHCHyC00H Lo LA, CITER)
= - H{
i W wen wym et e

(1) CHCH,CH,CH,
2 CH,CH.C=CH
(3) CHy-CH,~CH,y~CHO

(#) CH,~CH,-CH,~CH,0H

185. Wty Wifeam wrgiengs & m sfifen @n the reaction with aq. sodium hydroxg

TR foen v #5-m dfirs wpwaw s s, 2 |
frafafy som ? :

{84, Inthe reaction

1£ 1

R— ”rﬁanj,.;' pmﬂurt formed iy .
{1y CH _,,(.‘H:CHECI'{'*
(2) CHEHC= =

3 CH,— CI"[E - CH; —CHO

33/ CHy~CH, ~CH,—CH,0OH

" which of the following compounds ¥

N

undergo inversion and S,2 mechanism






pTRReep———— et el .,.--"’":;: . e
fonthes s i -yt - gy - w
- Wy g . e ¥ B

s
-5 e
H 7

i ' o« &
iy =i 6//‘5{ ,

e S e o ¥

-




o, fursit yomihs: i & |
mwm

iy T O il H'l'.“"ﬁ ﬁ ﬂtm
) ekl il .m"ﬁi t“_i‘mt
wrey Wiowfer wifwg {rrenfier regh wy
" 770 WY ]
i1 52 i
) 4252 9
(3] i"l.'ll:l"ﬂ"-'i
(4] 2041 7

191. et # A wE-m beim sitvdene 9l

ﬁ piece GFf wr vl (poumn an archueological

sOLree sloaws A W activity whilch s Gl

of thie activity found i Tresh woond today.
Calculate the age of the archmealogical

sample; (b, "= S770 years)

(1) 352 years
(2] 4252 yours
(3) 1920 years
(4) 2] years

m'ﬁ'hwh of the following halogens does not
" form pxoacid 7
et @_bf

&M ?
(1) @A
(2) FHEEE
() A
(4) A
192 ¥ frm 2R Al AT A
e T, B SN “af = fAelea T
: !
(1) n=31=2 m =L mss +4%
2) n=4,1=3m=2m= +w
@) ne=31=0my=0m=*+%

(1)
Qg &(’«)
B¢ Fluorine )\~ (TQ

Chlorne

Browmune

(4)

192. Which of the following sets of guantum
aumbers represent the highest energy of an

atom 7 ?)d
(1) :::Wl— 1, m, = +Va

)] n=3,1=0, m=0, mg= +Va @
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198.

{3}

{4)

s W= FTEN W B

* =L ¥
T
e
T

OCOCH

P
CENOYH hﬂ'"‘l’1ﬂ =1

W™ T

mF 70 aE e Mg dm b

or T o gl € oo
fin R} = o R

s ford= (aviw) B

e Fa il © W FAE e
i g freT B 7

™l

{.. l‘

i = m ¥
196, The compenand bk

W OW

- s VA
o

-
(17 antihviamin
(2] . analyeak
K ~ ;

s hoildes

(4] antacid

197. Chilor llt'l!'.wI I s

contamnang, Mg /

(1) a green pigment

3 a .Ll'i:'i'\'F‘-l.,'!ll["ln_l that makes CL 10
plants

(3} denved from Haem

(4) adipymole pigment

198. Which of the following halides is least
stable and has doubtt ul existonce 7
Ca

= "
Sn 1 &

(1)

(ot
—
Sy

i

AT, ) e
@) Cl

4 Gely

Ge |,
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a) < {br) < Wie
- .q\ } il o L
1 { sl ) e “..]
=) e '!"l"_".l:]
"

- [) * (d) < {{*i

-~ ; weteht of 5'.1,_-1}:4, ._h_l:.!. is lh
sl W Ml B

i rf-qum--.i Lo Mok

Jai ol Oxalc-aci

mal solution of NaQOk ﬁ'

100 ml of Pt

Lt
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